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ComMMON CORE ALGEBRA 1
.PART I QUESTIONS: Answer all questions in this part. Make sure you show all of your work. .
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1. Which of the following is equivalent to L{( bx + 7)
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3. If the expression @+5x is equal to 42 for some value of x. Does x = & ?
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10. When written in simplest form the expression, Y ( —bx+ 7) -+ 3( g~ X)
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Which of the following equations illustrates the der}weproperw a“J ,commu.,_‘{lk“'we P'bfe(tj .
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The expression .?(x) + Sx+ 3 is equ;glent to each of the following -
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ParT I QUESTIONS: Answer all questions in this part. Make sure you show all of your work.

.il.Find the Sum of 2% with 3‘){ in simplest form.
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13. Which of the following is equivalent to the expr ession * when Xx= =
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PART INI QUESTIONS: Answer all questions in this part. Make sure you show all of your work.

14. Which of the following properties justifies the equivalence: Deline 'Iag answeR .
3+n = n+3 and _é(x)=é.x
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15. Yy -1 =~ 5 for some value of x, is it true when
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16. Of the following, which are equivalent?
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PART IV QUESTION: Answer the question in this part ,. Sl'low (‘jw( el K.,

18. What is following step to simplify the expressmn.?
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19. Simplify the problem above.




